
2

3

6

7

Rajasthan CET (Graduation) 27 Sept 2024 1st Shift Question Paper
Which ofthe following options is årranged in desonding order oftheir storage size?g" t

(A)

e
(E)

(A)
(C)

PARAM is a scrics of

(E)

(©)

(E)

(C)

(E)

(C)
(E)

(A)

(E)

(A)

A15]

(C)

(E)

(A)
(C)

(E)

(A)

Bit, MB, Nibblc, KB
MB, KB, Bytc, Nibblc

(E)

Qucstion not attcmpted /3qata v

Micro Computcr
Mini Computer

Which generation of conmputers uses Vacüum tubes or Circuitry and Magnetic drum of Memory?
(A)

Qucstion not attepted

Third gencration
First generation

(C) fafrgfs

Qucstion not attempted

(B)
(D)

(B)

asscmbled in India by C-DA I

(D)

(B)

(B)
(D)

(B)

(B)

(D)

(B)

Bit, GR. KB. MB
Nibl!

(B)

(D)

(B)

M.)

Sup

(D) uiRrTH

(omputer

Fourth generation

teft it

mputer

Second genëration

(D) ayi
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8 : Take the giventwo,statements to be

9

10

11

truc cven if they scem to be at variance from commonly known facts, then decide
which conclusion would foilow on the basis of given statements?
Statements I.: No Apple is Banana.

Some Bahártas are grapes.
Conclusion II : 1. No Applcarc grapcs.

(A)
In light of the above statemcnis, choosc thc most appropriate answer from the options given below:

(C)

(E)

(C)
(E)

hUTI:

defeat?

(C)
(A) Son

(E)

(A)
(C)
(E)

Anoop told Munna, "Yesteday, I defeated the only brother of the daughter ofmy grandmother". Whom did Anoop

(C)
(E)

A15 ]

(A) 148

(A)

If CAT = 48, then MOUSEsequal to:

yfz CAT= 48 8I, T MOUSE raT T ?

(C)

Both conclusion I andI follow.

(E)

Only conclusion I fallqws.
Question not attempted

(A)
(C)
(E)

Brother

is knownas:

I. All Apples arc grapes is a possibility.

Question not attemped

142

B67

1593

Question not attemped / qafta va

Bus
wires

(B)

(D)

Question not attempled

B)

3

(D)

(B) Cousin
(D)Father

(B)

(B)
PY 146

etenr subich carries a group of bits Simuianeousy, nat is, in parallel, and has an associated contrOl scheme

NeitherInor II follows.
Only conclusion II follows

(B)
(D)

(B)
(D)

151936

A3641512937

29367

519367

138

Registers
data cables

moßre
2+:426

73
2

[PT.O.
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12

14

15

16

The name of the first Indian Satellite is :

A15]

(A)

(C)

(E)

(C)

(A)30e30e

(C)

(E)

13 Which part of the telephone device accepts voice and sends that information in the form of electromagnetic moves?

(A)

(C)
(E)

(C)

(E)

(C)

(A)

(C)

Aryabhatt

Bhaskar -I
Qucstion not attempted

(A)

Dialer

Which one of the following is not the mode ofSocial media?(A)

(C)

Receiver

(E)

Question not attempted

(E)

Broadband

Facebook

(E) Question iot attempted

Question not attempted

(A) tg afuer

(E) gata y

Kalpana Chawla

(B) Kalpana

Rajasthan Agricultural Research Institute is situated at

Jaipur

(D)

Jodhpur

(B)

(D)

Question not attempted

(C) ug

nehe following space travellers born in India died in space shuttle of Columbiaduring its returninp?
Ritu Karidhal

(B)

(D)

(D)

: (B)

(D)

(B)

(B)

4

(D)

(D) feaR

(B)
(D)

Insat-I

(B)

(D)

Mouth Piece

(B)

Cable

(D)

Blogging

Twitter

which of the following cities ?

Sirisha Bandla
Sunita Williams

gtr fafeRH

Mount Abu
Udaipur

[PT.0.
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0.

17

18

19

Ramganj Mandi, also known as coriander city, is situated near which of the following cities of Rajasthan?

(A)

(C)

(E)

20

(A)

(C)

21

()
(C),

Sriganganagar

(E) tfa

22

Jodhpur
Question not attempted

(A)

(C)

(E)

(A)

(C)

(E)

C.

(A)
(C)

(E)

hdT a te

(A)

(C)

C.

(E)

e.

A15 ]

dte, d sit b

(A)

hdT C, d st e

(C)

(E)

234

gz 343

Sikkim Himalayas

Garhwal Himalayas

Question not attempted

(B) Kota

(D) Udaipur

fafan fATTY

(D) 3<4g

b

Where is the famous Sikh Shrine "Hemkund Sahib' located?

(B)

(D)

b.

d.

(B)
)

D)

(B)

(B) 4qtz 283

4jb 243

(D)

(B)

(D)

ai a 3it d

rat b sttA

(D)

atc, d st a

at a,b 3fte

ZanskarHimalayas
KumaonHimalayas

[PTO.
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23

24

25

26

Sewan, Dhaman and Karad are

(A) Types of grasses

27

(C)

(E)

(C)

(E)

(A)
(C)

(E),

(E)

(A)
(C)

Which country's armed forces 'were awarded the coveted 'Golden Owl' award for theiroutstanding performance inDec 2023? (Choose the most appropriate option from below)

(A) ,

(E)

(C)
(E)

A15 ]

Types of folk dances
Question not attempted

Sri Lanka

(A)

India

(C)

Which one among the followingisa Fossil Park"?

,(A) Sariska

j(C)1.Akal' Wood

(E)

Question not attemptedi

(C)

(E)

152937

152293615124357

Hima Kohli

(E) Question not åttempted

Ruma Pal

Who was appointed asthe firstroman Chief Justice ofUttarakhand High Court?

Question not attempted.

UID
RajBOT

(B)

24 B)

(D)

Question not attempted

1

(D)

(B)

(D)

(B)

(D)

(B)
(D),

(B)
(D)

(B)

(D)

(B)

(D)

Which ofthe following are notthe. Artificial Intelligence (AI) related projects initiated bythe Rajasthan Government?

6

Types of Rajasthanipainting forms

(B)

(D)

Desert soils

(B)
(D)

Singapore

China

IndiraBanarjee
Ritu Bahri

Ranthambhore
Keoladeo Ghana

1o3671519367

Audio Analytics

1967

15129367

1*

sfsutynferfzT

Revenuc Intelligence &Ahalytics
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28

29

31

32

33

wo aitongst the following Indians has been recentlv'selected for the''GoldmanEnvironmental Prize 2024

(A) Tulsi Gowdá
(C)
(E)

(C)
(E)

(A)

(C)
(E)

(A)

(C)
(E)

(A)

Which of thefollowing is the starting point of the Ram Setu in India?

(C)
(E)

(A)
(C)
(E)

(C)
(E)

(A)

A15 ]

Ramesh Agrawal

(C)

Question not attempted

After

(E)

(A)

Tafa A,.

"A'borTOWS a sum of 2000 from his friend B' on 31 December 2011 on the condition that he willretum the same

after one year with simple interest at 8% per annum. However 'A' gets into a position of returning the money on 1'

July 2012. How much interest amount he has to pay to "B'?

(C)

Arichal Munai

(E)

Thanjavur
Qucstion not attempted

If'm' is proportional to "n' and m=5 when n =4, then

ufz 'm' 'n' HHtfas a m=s gaf n=4

100

Z80
Question not attempted /3atT TA

22.25%

Rakesh spends 80% of his income. If his income is increased by 14% and saving decreases by 15%, then what wi1

be percentage increase in his expenditure?

20%
Question not attempted /3ia A

25
28

(B)

Question not attempted / 4ata NA

(D)

Independence three states in Rajputana accedcd

Instrument of Integration

Instrument ofObligation

(B)

Question not attempted

(D)

(B) Shivaganga

(D)

(B)
(D)

7

Rajendra Singh

(D), 4G

Alok Shukla

t (B) 25%

Madurai

(B)

(D)

120

(P 21.25%

(B)

790

what is the value of m when n=20?

(D)

to the Indian Union through the
Accession Instrument League
Instrument of Accession

20

20

22.5

20G0

|PT,O.
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34

36

37

38

39

Which of the following i an insitutional factor of agriçulture which influences the pattern and productivity of

agriculture?
(A)
(C)
(E)

(C)
(E)

(A)
(C)

A15 ]

Narma' is associated with which crop in Rajasthan?

(E)

(A)
(C)
(E)

o3(C)
(E)

(A)

(A)
(C)
(E)

(A)
(C)

(E)

(C)
(E)

Chemical Fertilisers

(A)
(C)

Size of the holding of field)
Question not attempted

For the given sentence, choose the most appropriate answer from the options below:The language and style of a formalletter is

(E)

Tea

(A)

Jute

(E)

Question not attempted

very friendly

From which generation of computerthe

lengthy
Question not attempted

unacceptable
tenable

For the word given in Hindi, choose hemost appropriate word in English from

Question not attempted

152937.15$2536

12934

Third Generation

First Generation
Question not attempted

Raunsary Muir

367

Question not attempted

(B)

(D)

519367.

51

(B)

(B)

(D)

(D). eTrft

(B)

(B)
(D)

(B)
(D)

Crop Insurance
Topography

(B)

8

(B)

(D) acceptable

Coffee

Cotton

(B)

use of Integrated Circuits (IC) started?

(D)

polite and brief
:

Who deseribes Prime Minister asrimus, inter pares (First among equals) and "key stonegf the Cabinet arch"?
H. J. Laski

(D)

chatty

untenable

Fourth Generation
Second Generation

Munro

29367

the optionþelow:

Lord Morely

512367

15129367

14129367

15129

[PT.0.
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40

41

42

43

44

Who wäs the first Lokayukta of Rajasthan?

(A)

(C)

(E)

(C)

(E)

(A)

(B)

(C)

(D)

(E)

(C)

(E)

(A)

What is the tenure,.pf the Chairperson and Members of the Rajasthan Human Rights

(C)

(E)

(A)

(E)

(A)

(C)

A15 ]

Justice I.D. Dua

(E)

Justice Pratap Krishna Lohra

Questionnöt attempted

Who among the tollowing was the first woman Governor of the state, ofRajasthan?

PrabhaRAO

Match List-I with,ist-II:

Lis-I
(Words)

(A)
(C)

(E)

Kamla Behfival

Question

5 Years or upto 65 years of age whichevr is arlier

3 Years Qrupto 65 years of age whichever is earlier

5 Years drrupto 70 years of age whichever is earlier

3 Years oipto 70 years of age whichever is earlier

Questionöt attempted

b.

C. acbbmplish

Choose the
mostappropriate

a - IV, b
c-II, d-II

a-I,b- llç - III, d - IV

Questionnot
attempted

d.

ot attempted

gençfous

hojour

Insult

absutd

(B)

Destroy

(D)

(B)

(D)

Questionnot
attempted

(B)

(B)
(D) 3qqT

(D)

(B)

I.

IIL.

Justice J.L. Gupta

Justice S.S. Kothári,

(B)

(D)

BJ

Margret AIva

ati

ridiculo)
áchiev

N

IV. charitablë

answer from the options given below:

(D)

Pratibha

Choose the
mostabpropriate

antonym of the word "Ancient" from belo)

List-ii(Sýnonvmsi*1

esteem

a -II, b-I, c - IV, d -I
a -II, bIV, c - I, d - II

Moderm C

Cómmission?

Rough
LO

.
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45

46

47

48

49

A15]

For the sentence given, choose the nost appropriate answer in reported specch from the opfions beloW:
Ravi said, "My mother is going to hcr home town."

AA
(B)

(C)

(D)

(E)

The Planning Commission of India was formed on
(A)

(C)

(E)

(A)

(C)

(E)

(A)

(C)

(E)

(A)

(E)

(A)

(C)

(E)

(C)

Ravi said that his mother was going 1o her homc town.
Ravisaid tht his mother lhad gonc to her homc town.

Ravi said that his nmothcr will go to lhcr home town.
Ravi said that his mother has gonc to hcr homc town.
Qucstion not attempted

Vergheese Kurien is known as the father of which revolution in India?

1" January 2015

(A)

26th January 1950

(C)

Question not attempted

(E)

Hat 2015

26Ha 1950

Green Revolution
White Revolution
Question not attempted

Iron :and Steel Industry

(E) gafta a

Jute Industry
Question not attempted

Which ofthe following is NOTa lárge scale Industry in India? (Choose the most appropriate option from below)

Maharashtra
West Bengal

(B)

(D)

Question not attempled

(C)

(E) gaftawa

(D)

10

(B}2344AT 1950

(B)

(D)

(B)

(D)

(B)

(D)

2nd October 1950

Chandoliwas declared as National Park in 2004. It is located in which Indian state?

15th March 1950

(B)

15HI 1950

(D)

(B)

Red Revolution
Blue Revolution

(B) it h4gT 3UT

Cotton Textile Industry
Khadiand Village Industry

Ilaryana
Meghalaya

(D) yreT

|P.T.O.
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50

51

52

53

54

A15]

Which state assembly passed a bill to provide reservation in stat government jobs for SC, ST, OBC and EWS ro

60% to 77%?

(A).
(C)
(E)

(A)
(C)
(E)

(A)
(C)

(E)

(C)

(E)

(A)

Which of the follcving articles empowers the parliament to legislate on any-matter enumerated in the state list in the

national interest, ihe resolution is passed by the Rajya Sabha with a 2/3 îgajority of members present in the house

and voting? (Chosçthe most appropriate option from below)

(C)

(E)

(A)

(E)

(A)
(C)
(E)

(C)
(E)

(A)

West

(C)

Kerala

(E)

Question ni ttempted

(A)

The state bird of Rajsthanis

(E)

Article 312)
Article 54

Question npt-httempted

Among the following places in Rajasthan, where is the Pichola lake situated?

Bhilwara
Udaipur

5122

Question nofåttempted

Godawan (Geat Indian bustard )

IndianRolfer
Question

nõtattempted

Jagra

(B)

Gurushikha!

(D)

Question
nt-httempted

(B)

11

(B)

(D)

(B)

(B)

(D)

(B)

(D)

(B)
(D)

Whích of thefollowingpeaks of AravaliRangesis the highest2

B)

Andhra Praäsh
Jharkhand

(D)

Article 360
Article 24

(B)
(D)

4q3 36

Karauli

Ajmer

Blue Jay

151$5367

L51293€7

I51293

Peacock

(B) Kamalnath)
(D) Raghunatharh

[P.T0.
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55i"Kalisindh Themal Power Project' is located in which of the:following areas of Rajasthan? (Choose the most

appropriate option from below)

56

S7

58

59

60

(A)
(C)
(E)

(A)

(E)

(C)
(E)

(A)

(E)

(C)

Where is the archaeological site of "Civilization of Balathal" situated?
(A)

(E)

A15 ]

(A)
(C)

(C)

(A)
(C)

(E)

(A)

e)

Barmer

(E)

Jhalawar

In which year Prithivi Raj III defeated Chandel Ruler of Mahoba?
(A)1191 A.D.

Question not attempted

(C)
(E)

Hanumangarh

(A)

(C)

Vallabhnagar, Udaipur
Question not attempted

1181 A.D.
Question not attempted

1191

1181

Maharaja Surajmal
Maharana Shambhu Singh-I
Question not attempted

1990
1992

(B)

"Saheliyon ki Bari" a popular tourist destination in Udaipur was built by(A)

Question not attempted / 44dtA IA

(D)

(B)

Bureau of Indian Standards

(D)

Question not attempted

(E) ata

h(B)
(D)

(B)
(D)

(B)
(D)

(B)

P)

(B)

Lo shich vear the Indian Government launched the New Economic Policy of lndia? (Choose the most annronriateoption from below)

(D

(B)

Kota
Bikaner

Ajmer
Mount Abu, Sirohi

(D)

1192 A.D.

Who from the following has the primary responsibility of distribution of the food grains in Indin?(A) Food Safety and Standard Authority of India

12

1182 A.D.

(B)

B)

192.
182.

Maharaja Udai Singh

(B) 1993
(D) 1991

Maharana Sangram Singh - II

(B) Employee's State Insurance
Food Corporation of India

[PT.0.

http
s:/

/w
ww.g

eniu
sja

nkari.
com

Apply

https://www.geniusjankari.com


61 Which Union Ministry launchedthe 'Swachh Sarvekshan 2023' - Mera Shahar, Meri Pehchan' survey

most appropriate option from below)

62

63

64

(A)

(B)

(C)

(D)
(E)

(A)

(E)

(A)
(C)

(A)

In Olympic 2024, India was at

(C)
(E)

(A)

(C)

(E) Question not attempted

3TICIQE 2024 KTYGEtfeih

(E)

(C)

(E)

(A)
(C)

Ministry of Jal Shakti

(E)

Ministry ofTourism

(A)

Ministry of Housing and Urban Affairs (MoHUA)

(C)

A15 ]

Ministry ofMSME

Question not attempted

(E)

37th

17th

374
17

Which state hosted Outlook Planet Sustainability Summit and Awards-2024?

Goa
Rajasthan
Question not attempted

a.
b.

C.

d.

Which of the following
statements is not true with regardto the Comptroller and Auditor General of India?

b.

(B)

(D)

b, c and d only

C.

spot in the medals tally?

a, c andd only

d.

(B)

Question not attempted

(D)

(B)

(D)

(B)

pTb, c ft d

pdTa, c 3itd

(D)

The CAG is appoited by the President ofIndia.

(B)

Choose the mostappropriate
answer from the optionsgiven belows

(D)

The Tenure ofCAG is fixed for five years.
The CAG can be removed on the recommendation of the President of Inidia

91st

The salary and
allowances of the CAG are charged onthe consolidated fund of India.

71st

13

914

(B)
(D)

71à

Tamil Nadu
Maharashtra

(B)

(D)

a, b andd only

a, b andc only

aet a, b 3t d

hes a, b 3itt c
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65

66

67

68

69

70

Which of the following provisions of thé Indian Constitution deals with the appointment and dismissal of the Council
of Ministers?

(A)
(C)

(E)

(C)
(E)

(C)
(E)

(A)
(C)
(É)

Ais]

(A)

Complete the sentence by choosing the most suitable article from the options given below:
Please get me umbrella when I go out shopping as the monsoons are approaching
(A) No Artic

(C)
(E)

(A)
(C)
(E)

Diesel engine converts energy from
Electric energy to sound energy
Chemicálenergy to mechanical energy

Questionnot attempted

(C)
(E)

Complete the sentence by choosing the most appropriate preposition from th.options given below:
Ireached the school the gates closed.

(A)

Article A

(9

Article 70

(E)

Question hot attempted

Mountain: HillTree: ?

(A)

the

(A) Forest O

(C)

Questio-hot attempted

(E)

(A)

by

(E)

later

(

qGa: YEIg::Gi24

Question notattempted

Choose the oddone out.

Leaf
Questionnot attempted

(B)
(D)

Choose the mošiappropriate word from the given altermatives which bears the.Same relationship with the third word,
as the first two bear. s.

Greece

(B)

Korea a
Questionnot attempted

(D) 72

(B) an
(D) a

(B)
(D)

(B)

Article 75

(D)

Article 72

(D)

(Choose the most appropriate optin from below)
Nuclear energýto electric energy
Chemical energýto electric energy

.

(B)

(B) Rain

(D)

from

before

(D) Shrub

(B)
(D)

14

L9€6ISI

9

E67S

France
Poland

)

(B)
(D) s

9E67IpT

L9€67IST
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71

72

73

74

If in a certain codg:
COMPANIES be written in that code?

f fotft as ÀOht L, A

(A)

A15 ]

(C)
(E)

(A)

(E)

Read the passage and answer questions 73 to 76:

O is written as L, A as H, M as I, S as F, N as T, E as S, I as A, P as G and Cas E, then how
will.

pEIGHATFS
ELZGHSBSF

(A)
(B)
(C)

H, M ÀÌ I, S t F, N T, E a S, I t A, P GUi c E fTGT

Qucstion not attenpted /34ia TA

Allpeople have some stress in their livcs. A little stress makes life interesting, and keeps you on your toes.

However, too much stress can be unhealthy. You may find your life becoming stressful wheneverthere are changes

in your environment, in your relationships, or in the demands you put on yourselt.

(D)

Stress can also be caused by good things in your life, such as getting a new job, moving. to a new place, or

getting married.

How can you tellwhen your life is getting too "stressful"? You will probably find yourself always feeling

rushed, as though you must hurry everywhere yo go. There is never enough tim to do evéryting thát you need to do.

You may find yourselfwalking, talking, and eating more quickly than usual.

(E)

Besides causing emotional problems, stress can alsocause real physical problems. Ifyouhavé too much stress

in your life, you may suffer from stomach problems, headaches or neck and shoulder pain.

(A)

Prevention is the best way to deal with stress. First of all, be organied- there is nothing so strešsfiul ás a

isorganized life. Put your life and your surroundings (your home, apatment or desk at work or school) in order

What
may cause stress? (Choosethe most appropriat option from below)

(B)

Don'tprocrastinate. Stop putting things off. Do what needs to be done today. On the other hand, don't always feel

that you have to do everyting right now. Learn to say no" to activities and commitments that will only add more

stress to your life. Remember that you are only human, and that you can only do one thing at a time.

(C)

Learnto relax. Slowdown. Take a break or a walk when you feel yourself getting stressed. Find a hobby that

you enjoy. Reading, listening to music or creating something with your hands areall great ways,to bring some peace

to a hectic life. Learn to laugh at yourselfand your life. Tryto look onthe bright side of life. Eve when things seem

pretty dark and stressful, thereis usually a place for some humor and a srmile.

(E)

When you do Yoga.

(D)

"Stress"

When you go on vacation with friends.

(B)

(D)

Whenyourelax and
meditate.

ELIGHTASF
ELGHITASF

Question not attempted

How to tell jfyouare too stressed out ? (Choose the most appropriate option from belovw)

Whenyou make changes in the
demands yoir put on yourself.

You are relaxed and take life
easy.

m

You have tie to volunteer for
many social work

You feel fullof
energyandjosh.

A

ELLGHt
ASP

You run short of time to do all youneed to do

Questionnot
attempted
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75

76

78

79

What is one of the appropriate way to manag stress? (Chose the most appropriate option from below)
Take on many assignments together.

80

(B), Do everything by yourself and avoid delegation of work.

()g Plan andorganise your work.
(D)n Rush all the activities you do.
(E)T) Question not attempted

Chogse the most appropriate meaning of the idiom "to be on your tes" from the options bclow:

(Ay Take a'break be alert and rcady for anything
LooK on the bright sideE(Q Putting things off

L

Question not attempted

Bue Revolution in India was launched during the period:

(! 1975-1980
1985-1990

(Qn wheat

(Q

Question not attempted

(E)) Question not attempted

(

H 1985-1990

(A

H4 1975-1980

(AJ Meja Dam

(G! Ram Sagar Dam

(E:

+1.f),

(C)

(E)

A15 ]

Injwhich of the following, Rajasthan is thelargest producer in thé,cóuntry?.

(A5 Wool

(A)4

Question not attempted

(B)

(D)

Which of the following dams of Rajasthan is for both irrigation änd Hydroclectricity? (Choose the most äppropriate
option from below)

Amar Singh Rathore

Jamna Lal Bhatt

(B)

Question not attempted

(D)

(B)

(D H80-1985

(B)
(D)

(B) Teai
(D) Rice

9367

(B)

Tanmongst the following famous artists, has represented Rajasthán in the Bharat Utsav in 'Bahnunin al

(D)

1990-1995
1g80-1985

(B)

1b90-1995

(B)
(D)

16

Jawai Dam
RanaPratap Sagar Dam

Jaišngh Rathore
Janki Lal Bhand
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81

82

83

84

Match List-I with List-II

(A)
(C)

(E)

(A)

(C)

(E)

(C)

(E)

(A)

(C)

(E)

(C)

(E)

(A)

(C)

(E)

a

(A)

b.

(C)

C.

(E)

d.

Who is famous as 'Wagad Ki Meera'?

A1š ]

a.

b.

C.

d.

List-I (Chhatri)

Choose the most appropriate ansiver from the options given below:

Chhatri of SawaiJai Singh

RaniChhatri of Musi

Chhatri of Gopal)Singh

Sethon ki Chhatrj

a -IV, b- III, c - I, d -IfN
a -I,b-II,c - III, d -I!

Kattha is extracted from the inner wood ofwhich tree?

Ouestion not attemptedgata

Gavri Bai

Rana Bai

Question not attempted

Khair tree

Kul tree

L9ETST

9E6ISI

LOE6ST

Question not attempted

The Chenab

I.

The Satluj

II.

Question not attempted

III.

IV.

I.

-II.

NII.

IV.

(D)

(B)

A8 a- IIl, b - I,c -V, d -1
a - I, b-I, c - IV, d - i:

(D)

(B):
(D)

Which of the following rivers is(the largest tributary of Indus river?

(B)

(B) Panna Dhi
(D)

List-II (Places)

(B)

Alwar

(D)

Ramgarh

17

Gatore

(

(D)

Karauli

Karmawati

Mulberry tree

Kusum tree

The Jhelum
The Beas
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85

86

In the fourth phase of integration of Rajasthan, which four princely states merged into, Greater Kajasthnan

(A) Alwar, Bharatpur, Dholpur, Karauli

87

(C)

(E)

(A)
(C)
(E)

(A)
(C)
(E)

88

(A)

When did Netaji Subhash Chandra Bose proclaimed the setting up of the provisionaligovernment of free India
Singapore?

(C)

Kota, Tonk
,
Bundi, Jhalawar

(E)

Question not attempted

23rd October 1943

" (C)

Question not attempted

21 October 1943

(E)

23 3T4a 1943

(A)
(C).

21 4GGR 1943

Choose the correct statements from the options given below:

(A)

(C)

a.

(A). a, c and d only

(E)

b

-(A)

C.

E)

d.

a.

C.

Choose the most appropriate answer from the options given below:

a,b and ç only
Questionn

(B)

(D)

(D)

This Act was based on the Mountbatten Plan.

(not'attenpted.

The Act got royal assent on August 10, 1947.

(B)

hdT a, c

(D)

The Act was implemented on August 15, 1947.

haT a, b tc

The British Parliament passed theIndian Independence Act on July 05, 1947:

(D)

Subhash Chandra Bose

Mahatma Gandhi

Question not attempted

e 24 AAT 1943

Jaipur, Jodhpur, Bikaner, Jaisalmer

(B)
(D)

Pratapgarh, Dungarpur, Kishangarh, Shahpura

(B)

afüfuy 10 3TA, 1947 T4t afaYIH V

(D)

1ho declared the status of women should also be raised and women should be trained to take a larger and

intelligent interest in public affairs" at the Maharashtra Provincial Conference in May, 19282

24th October 1943

22nd October 1943

(B)
(D)

(B)

18

22 344eGK 1943

(D)

b, c and d only
a, b and d only

hart b, c 3t d

heT a, b 3îr d

Bhagat Singh
J. L. Nehru
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89

90

91

92

93

The length of acoldstörage is double its breadth. Its height is 3m. The area of its four walls (inchuding the doors) is

A1S]

108 m². Find its volume.

108 m² ŽI FHGHT AIYTT AIAfsI
(A)

(C)

(E

(A)

(C)

(E)

(A)

(C)

(E)

(A)

C),

Which of the following-is-not a medicinal plant?

(E)

(A)

(C)

(E)

(E)

(A)

(C)

125 m³

(E)

216 m³

(A)

Question not attermpted / 34qfta wT

(C)

a.

(E)

C.

e.

Corchorus cäpsularis
Emblica ofRcinalty

Question not attempted

(A) qfit
(C) aT

afrmstfft
gafa y*.

Leaves
.

Natural rubber is a polymer of:

Flowers
Question not atterppted

Which part from 'ashvagändha' plant is used to make medicines?

(B)

qfta va

Ethene

Ethylene

L51671512

Question not attemped

sfrcfit

(B)

19

(D)

b.

d.

(B)

(D)

(B)

(D)

(E)
(D)

(D)

(D)

(B)

(D)

256 m3

225 m³

(D)

haie 3ir a

Ocimum sanctum
Curcuma longa

Roots>

Shoots

Butadiene

Isoprene

15129367

15129367:

L5129367

15129367

1512936
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94.Choose theodd one out. .t i: 1o 3

Aggregate

95

96

(A)

97

98

(E)

(A) ifera
(C)

(E)

Who is the second tallest?
(A)
(C)

(E)

Congregatee
Question not attempted

There are five friends - Sachin, Kamal, Mohan, Arun and Ram. Sachin is shorter than Kamal, but taller than Ram

Mohan is the tallest. Arun is a little shorter than Kamal and a little taller than Sachin.

"(C)
(E)

A15]

(C)
(E)

)

BGECDAF

(A)

Some symnbols are represented by letters as shown below:

(C)

Kamal

(E)

Ram
Question not attempted..

(A)

(C)

X

Which of the following expression is most appropriate?

(E)

=><

15CSF 8C 4B 6C
S s

15C 15B8 F 4B 6C 2

460 m²

h.t:i (D) Disperse

Question not attempted/ qtfta IA
Is Ist% 4t2

450 m²

(B)

3<4.

{5,750

Question not attempted /44ta wA

76,250

(B)

(B) Arun

(D) Sachin

(B)

The perimeter of a rectangle is 90 m. If its length'is twice its breadth, then its area is:

Question not attempted /4fT TH

(D)

+4*Si:j
(B)

(D)

Accumulate

B
(D)

20

The average monthly income of "A'and "B is 6,000, that of 'B' and 'C' is 5,500 and that ofA and
5250. What is 'A"'s monthly income?

(B)

15A SE 8C 4B 6E 3

(D)

15B 5G 8B 4G 6F 3

420 m²

380 m²

(5>sxB4+63

6,200

IStsB+46L3
26-4-.6:r

6,450

20-(2c
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99

100

101

Which of the following is incorrectly matched?

(A)

(C)

(E)

(C)

(A)

(B)

(C)

(D)

(E)

(A)

(E)

Given bclow are two statcments:

Statement (1) : KARYA' is a program of department of science and technology, government of Rajasthan.

Statement (II) : 'KARYA' aims to provide short term research opportunities to students ofbasic sciences at graduate

level only.

In light of the above statements, choose the most appropriate answer from the options given below:

(A)

(B)

(C)

Plaster of Paris - CaSO, , H0

(D)

A15 ]

1

Washing soda - Na,CO,

Question not attempted

Given below are two statements:

(E)

arftiTHst - Na,CO

(A)

(E)

(B)

(D)

(B)

Statement (I) : Gram is grown as "Rabi" crop in Rajasthan.

Statement (I) is correct but Statement (II) is incorrect.

Statement (I) is incorrect but Statement (II) is correct.

Both Statement (I) and Statement (II) are correct.

Both Statement (I) and Statement (II) are incorrect.

Question not attempted

Statement (II) : Oilseeds are grOWn both in "Rabi" and "Kharif" seasons in Raiasthan

In light of the above statements, choose the most ppropriate answer from the options given below

(B)

(D)

Baking soda - NaHCO,

Bleaching powder - CaO

21

af sT NaHCO,

sgftfi qISST-CaO

Statement (I) is correct but Statement (II) is incorrect.

Statemnent () is incorTect but Statement (I) is correct.

Both Statement () and Statement (I) are correct.

Both Statement (I) and Statement () arc incorrect.

Question not attempted

(B)

(D)
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102

103

104

Which of the following taxes is not levied and collected by the State Govemment of Rajasthan?
(A) Road/Vehicle Tax

105

(C)

(E)

(A)

A15]

(C)

(E)

(E)

(A)

Which of the follbWing is not a salient feature of the Indian Constitution?
(A) Provisionsdrawn from various sources

i.l(C)

(C)

(E)

(B)

(C)

(D)

(E)

(C)

(D)

(E)

Taxes on Agricultural Income

Question not attempted

(A)

(C)

Lengtheist written Constitution

(E)

Question jotattempted

Which of the following statements is not correct about Sahariya tribe of Rajasthan?
(A) The chiefof the tribe is called Tapara.

Baran distrit.
They have
Question notattempted

a.

C.

(B)

gotra" like Chauhan, Dodia etc:

Ketala

(D)

Delhi

(B)

They worship several Gods and Goddesses, but their main god is "Bhru Bharani".

c, a, d, b t

The habitat öf Sahariya is South-Eastern Rajasthan, that too limitéd to.Shahabad and Kishangani tehsils of

a, d, c, b

(B)

Arrange the following States/UT of Indiain descending order according to their population density (Census 2011).

(D)

Question Hódattempted / gafta wa

Income Tais
Taxes on land and structure

Provision f,Dual citizenship

(D) HrtfisagH HAIfaR

Universal Adult Franchise

Choose the most qppropriate answer from the options given below:

22

(B)

b.

d.

a, d, b, c

Dy .c, d, b, a

West Bengal
Bihár
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106

107

108

109

Given below are two statements:

Statement (I) : Alluvial soils contain an adequate amount of Potassium, Phosphoric Acid and lime, which are ideal
for growth of sugarcane, paddy, wheat and other cereal and pulse crops.
Statement (II) : This soil contains enough quantity ofNitrogen.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)

(B)
(C)

(D)

(E)

(E)

Who was known as

(A)

(C)

(E)

(C)

(E)

A15)

(A)
(C)

(E)

The Khilafat movement was led by -

(A)

(E)

(A)
(C)

Statement (I) is correct but Statement () is incorrect.
Statement (1) is incorrect but Statement (II) is correct,

Both Statement () and Statement (I) are correct.
Both Statement (I) and Statement (II) are incorrect.
Question not attempted

(E)

(C)

Frontier Gandhi'?

Khan Abdul Gaffar Khan

(E)

Mahatma Gandhi

Question not attempted

Bal Gangadhar Tilak and Vipin Chandra Pal

Question not attempted

(A) f far tfizt

Tryst with Destiny
Wings of Challenges
Question not attempted

(B)
(D)

Mahatma Gandhiand Khan Abdul Gaffar Khan (D)

(B)

.23

(D)

Mfomonssneech addressed by the first Prime Minster of lndia Jawaharlal Nehru at the hour of midinghta à ,c
August 1947, is known as: (Choosc the most appropriate option from below)

(B)

(D)

(B)

(B)

Mohd. Rasooq

(B)

(D)

Sardar Patel .

Maharaja Hari Singh and Shaukat Ali
Mohammad Ali and Shaukat Ali

Hope for the better future
Independent India
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112

113

114

Ranjan travelled 15 km northward, then turned right and travelled'10km. then turned left and travelled 20 km, ther
turned left and travelled 10 km. How far was Ranjan from the starting point?

115

(A)

(c)
(E)

(C)
(E)

SA 35 faft

(E)

(A) 35

(A)

(C) 40

(C)
(E)

A11 A group of girls stånds in a single line. One girl is ninteenth in order from both the ends. How many girls are therein the class?

,
(A)
(C)

(E)

(A)

(C)

Where is the principäl seat of Rajasthan High Court located?

(E)

ta)

35 km

(C)

30 km

(E)

Question not atempted

(A)
(C)

30 fhtft

(E)

(C)

Question not atempted/44afawa

Kota
si29d47Barmer

Question not attempted

(B)

Who was the State Elèction Commissioner of Rajasthan during 2023?
Madukar Gupta
N.R. Bhasin.Question not attempted

(D)

(E) tawg

(B)

-)

(D)

E) 37

(D) 38

(B)
(D)

(D)

45 km
25 km

(B)

45 fehft

25 fehft

24

(B)
(D)

(B) Amar Singh Rathor
(D)Inderjit Khanpa,

(B)

(D)

Jodhpur
Ajmer

151293615129367

123

151ig367

3THG 31THT

201

1512#2
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117

118

119

A15J

(A)

(C)
(E)

(C)

(E)

(A)

(C)

(E)

(A)

(C)

(E)

Bifocal lens is uscd to correctthe defect of: (Choose the most appropriate option from

(A) Cataract

(A)

a.

The adult human dental formula is:

(B)

C.

(C)

e.

(D)

hdi a, b it c

(E)

hat c, d t c

akawa

(A)

(C)

(E)

Myopia

Given below are two statements:

512957

Question not attempted

2123

Bi29367

1512957

2112
Question not attempted,gaka A

b

d.

(B) hdet b, c 3r d.

(DaT a, d 3t e

(II) is false.
Statement (I) is true but Statement

Statement (I) is false butStatement (II) is true.

Both Statement () andtatement (Il) are true.

Both Statement (I) and:Statement (II) are false.

Question not attempted

25

(B)

Statement (I): The first bloodtransfusion was carried out by Karl Landsteiner

(D)

(B)

(B)

Statement (): Blood transfusion is a method in which bl00d or blood products are transferred from the circulatory

system ofone person to another.

(D)

In light of the above statements, cho0se the tOSt appropriate answer from the optionsgiven below:

Hypermetropia

Presbyopia ts

2213

(B)

5129367

2122

(D)

n'below) ti

D129367

151236

15129367

15ï2

#367

(

:
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120

121

"Rane Jagpat Ra Marasya' was written to mourn the dcath of which ruler?
(A) Maharaja Jeevan Singh

(C) Maharaja Janak Singh

122

(E)

(A)

(C)

(E)

123

(9)

Which statements regarding Kuchamani Khayal arc corrcct?

Question not attcmptcd

(C)

(E)

(A) a, b, and conly

(E)

In this Khayal, players of Dhol; Sarangi, Clarinct and Dholak are the main accompanists.
Choose the most appropriate answer from the options given below:

(E) Question not attempted

(A)

(C)

(E)

a.

b,

(K hAT a, b 3t e

(A)

C.

(C)

(E)

d.

(C)

(C) Bhartrhari fair

(E)
A15 ]

b, c andd only

b.
C.

d.

Kuchanmani Khayal was startcd by the famous folk dramatist Lachhi Ram.
Chand Nilgiri, Rao Ridamal and Meera Mangal are the main khayals created by Lachhi Ram.
Kuchamani Khayal is not performed in an open theatrc.

Which fair was started by Kachhwaha's to cherish their victory over Chandra Meena2
(A) Khalkani Mata Donkey fair

(B)

(D)

Question not attempted

(B)

The Western Ghats are known as 'Sahyadri' in which state?

Tamil Nadu

Karnataka
Question not attempied

(B)

(D)

(B)

(D)

(B)

(D)

Maharaja Jaidccp Singh

Maharaja Jagat Singh

(B)

(D)

26

a, b and d only

(D) y AEIT

(3)
(D)

a, c andd only

nde a, b it d

hdt a, c 3t d K

Diggi Kalyan ji fair
Pushkar fair

Kerala

Maharashtra
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124

125

127

128

which of the following statements is not correct about the Gondwana Coal?

129

(A)

(B)

(C)

(D)

(E)

(A)

(B)

(C)

(D)

(E)

(A)

(C)

(E)

The first Vice Chairman of NITIAYOG was

(C)

(E)

(A) T fAtuft

.(A)

(C)

(E)

(A)

It is mainly peat and lignite type of coal.

(A) 2017-18

SG 2015-16

(C

126 In which of the following budgetyear, the Railway Budget was merged with the Union Budget?

(E) Question not attempted /3gaftas

(E)

Raniganj, Jharia, Tata Pani and Himgiri are some of the important coal mines of Gendwana formation.

The Gondwana coal belong to the carboniferous period.
It is found in Damodar, Mahanadi, Godavari and Narmada valley.

Question not attempted )

Nandan Nilekani

(E)

Narendra Modi
Question not attemptea

(A)
(C)

A15|

The rate at which Reserve Bank'of India lends money to commercial banks is called ui i, i

SLR
CRR

(A) 5.8 %

Question not attempted

(C) 5.1%

T. 34T. 34.
374afa A

Question not attemptced / 3igafa I

Which ofthe followingare twq csh crops of Rajasthan?

Bajra and Coriander

Cotton and Tobacco

Question not attempted(E)

fufafuaÄ

As per the Budget 2024-25, thc fiscal deficit is estimated to remain

Arvind Panagariya

)Arun Jaitley
(B)

(

(D)

27

(D)

(B)
(D)

(B)
(D)

2018-19

(D)

(B). 9z
(D)

(B)

(D)

2016-17s74 iq1

Repo Rate
Reverse Repo Rate

15129361512936

1512367

15129367

1512

c367

4.9%
5.5%

Barley and oil seeds
Wheat and Rice

(D) 3TaIAGT

of GDPin 2024-25.
,

;)
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130 Indira Gandhi Canal ends in which of the following districts ofRajasthan?üH 3:

131

132

133

(A)

(C)

(E)

(A)

134

(C)

(E)

(A)

(C)

Which city is known as 'Food Basket of Rajasthan'?

(E)

(C)

(E)

(A) Ht

(A)

(E) faa

(B)

(C)

(6Y 2019-20

(D)

(E)

(B)

KE)

Bharatpur

(D)

Jodhpur

Question not attempted

(A)

(C)

Bikaner

Pradhan Mantri Krishi Sinchaiyee Yojana (PMKSY) was implemented in Rajasthan from the year

(E)

Alwar
Question not attempted

(E)

A15 ]

(A)

2015-16

(E) 3rtfaA

Question not attempted/3ata yA

Which of the following statements is not correct about the Darjeeling and Sikkim Himalayas?They are flanked by Nepal Himalayas in the West and Bhutan Himalayas in the East.,

It is a region ofhigh mountains peaks.

(B)

(D)

(B)

Jharkahand

B)

Duduma waterfall is located in which of the following state?

West Bengal

(B)

(D)

Question not attempted

(B)

(B)

t. (D)

The higher reaches of thisregion are inhabited by Monpa..

This region has well distributed rainfall throughout the years.
Question not attempted

(B)

Udaipur

(D)

Jaisalmer

28

Ajmer

(B)

Sri Ganganagar

(D)

2020-2 1

2017-18

Odisha
Andhra Pradesh
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135

137

Name the left bank tributary of the Brahmaputra River?
(A)

138

(C)

(E)

(A)

(C)

(E)

136 In 1859, 'Relief ofLucknow' painting was painted by
(A)

(C)

(E)

(A)

(E)

(A)

(C)

E)

Radhakrishnan.

(A)

(B)

Burhi Dihing

(C)

Subansiri

(D)

Question not attempted

(E)

Given below are two statements:

(A)

Oubam

(C)

Thomas Jones Barker

The University Education Commission was set-up in the year

(E)

Question not attempted

A1S]

1951

1947
Question not attempted / TIA

(B)

(D) Kameng

(B)

(D) T

(B) Havelock
(D)

Statement () :Most oftherulers of the princely states atter Independence of lndia were averse to join the ConstithuentAssembly.

(B)

Statement (II) :This response of rulers of the princely states meant that after independence there une o Ho

possibility that India would get further divided into a number of small countries.

(D)

In light of the above statements, choose the most aPpropriate answer from the options given below:

Sankosh

B 1953

(D)

Campbell,

Statement (I) is correct but Statement (II) is incorrect.

Statement (I) is incorrect but Statement (1) is correct.

Both Statement (I) and Statement (II) are correct.

Both Statement (I) and Statement (II) are incorrect.

Question not attempted

29

1948

(B)

(D)

under the Chaimanship of Dr. S.
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139

141

142

(A)
(C)

(E)

(C)

(E)

143.

144

(A)

Which of the following wordswill come second in the English dictionary?

(E)

(C)

What will come in plac of "?"

60,45,32, 21,?

(E)

(A) 14

(A)

(C)

(E)

Maternal

What will come in plac¢ of '?"

(A)

Magnetic

(C)

(E)

Question not attempted /4ti A

(A)

(E)

A15 ]

the state?

1512

16
Question not attempted /4qaiT SA

1D0293m7

1512747

5

Question not attempted /3gaft 3A

Bundi

?

SriGanganagár

1 (B)

(D)

Question not attempted

(B)

(D)

(B) .11
D

(B)

(D)

Which of the following districts of Rajasthan is famous for the highest produçtign of wheat in year 2022-23

Magnify

(B)

(D)

30

Magical -Á
at

604S3R/R

12

l

Kota

1512367

15129357

1512937

12

(B) er
(D)

Jaisalmer

Ž5129s7

1512p.

|3
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45 Which among the following is not an Agro bascd Industry in the state of Rajasthan?

147

(A)

14g

(C)

150

(E)

(C)

(E)

146 Which of the following is not a web browser?:
(A)

(C)

(E)

(A)

(C)

(E)

(B)

(C)

(E)

(A)

(C)

(E)

(A) A cake was baked by my sister:

(A)

Iron and Steel Industry

(C)

Dal Mills.

(E)

Ouestion not attempted

Opera

(A)

Mozilla Firefox

(C)

A151

Question not attempted

For the sentence given, choose the most appropriate answer in the passive voice from the options below:
My sister baked a cake.

(E)

feI HYsGH
qrfta ua

A cake was being baked by my sister. K
A cake had been baked by my sister.

48 Complete the given sentence choosing the most appropriate word from the options belewes

My brother is in the Indian Foreign Services and can speak many languages. He is a

She remarked that she

A cake is being baked by my sister.

Question not attempted

Philatelist
Pessimist

Question not attempted

fecling
will fecl
Question not attempted

G Was arrested without being given a reason

Complete the gien sentence choosing the mOst Ppopre word from the options hola

with him for his lack of sympathy for the victim.

at odds and ends

(B)

annoyea

over and above

(D)

(B)

(D)

Question not attempted

(B)

(D)

31

(D)

(B)

(D)

Cotton Industry

(B)

Rice Mills

(D)

Gmail

In the sentence given, replaccthe underlincd words, choosine the most suitableidiom fromthe options below:

Safari

(B)

(D)

Linguist
Polyglot

fecl

felt

outand out,

lor no rhyme or reason
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